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MDQ/D-21 5232
ADVANCED FINANCIAL MANAGEMENT
MC-302
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory and each part of it carries
4 marks and answer of each part must not exceed
150 words. Out of the remaining questions, attempt

any four questions carrying 14 marks each.
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1. Explain/answer the following parts :
(a) Advances in financial management
(b) Meaning and cost of financial distress

(c) PPC Company Limited is expecting an annual EBIT
of Rs. 1,50,000. The company has Rs. 6,00,000 in
8% debentures. The cost of equity capital or
capitalization rate is 12.5%. Compute the value of

the firm.

(2)L-5232 1



(d)

(e)

®

What is home-made leverage and what is its

relevance in MM approach ?

Provision related to buy back of share as given in

the Companies Act, 2013.

Explain briefly effect of financial leverage on a

firm.
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2.

Answer the following in short :
(a) What is informational content of dividend pay-out ?

(b) What is a stable dividend policy and why should it

be followed ?
(c) Explain any three factors capital structure decision.

(d) What is Indifference break even leverage ?
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The following data of a company is given (in Rupees) :

Sales = 90,00,000
Variable Cost = 50,00,000
Fixed Costs = 10,00,000
Interest Payment = 5,00,000

Calculate degree of operating leverage and financial
leverage. By what percentage will EBIT increase if there

is 10% increase in sales ? Verify the results.
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4. A company has a total investment of Rs. 40,00,000 in
assets, and 40000 ordinary shares of Rs. 100 per share
(par value). It earns a rate of 12% on its investment, and
has a policy of retaining 40% of the earnings. If the
appropriate discount rate of the firm in 8 per cent,
determine the price of its share using Gordon’s model.
What shall happen to the price if the company has a pay-
out of 50% or 20% ?
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5. The following data concern to X and Y companies :

Particulars Company X Company Y
Earnings after taxes 1,40,000 37,500
Equity share outstanding 20,000 7,500
EPS (Rs.) 7 5

P/E ratio (times) 10 8
Market price (Rs.) 70 40

Company X is the acquiring company, exchanging its one
share for every 1.5 shares of Y Ltd. Assume that company
X expects to have the same earnings and P/E ratio after
the merger as before (no synergy effect), show that extent
of gain accruing to the shareholders of the two companies
as a result of the merger. Are they better or worse off

than they were before merger ?
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6. Answer the following questions in short :

(a) What is Leveraged buyout ?
(b) What leads to the failure of a merger or acquisition ?

(c) How should a company ensure that the merger or
acquisition is successful ?

(d) How is the Share Exchange Ratio determined ?
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7. Firm A is planning to acquire Firm B. The relevant

financial details of the two firms prior to the merger

announcement are as follows :

Particulars Firm A Firm B
Market price per share Rs. 75 Rs. 30
No. of shares 10,00,000 5,00,000

Market value of the firm (Rs.) 7,50,00,000 1,50,00,000
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The merger is expected to bring gains which have present
value of Rs. 1.5 crore. Firm A offers 2,50,000 shares in
exchange for 5 lakh shares to the shareholders of Firm B.

You are required to determine :
(a) Total value of firm AB (PVAB) after merger.
(b) Gains to the shareholders of Firm A; and

(¢) True cost of acquiring Firm B and net present value

of the merger to Firm B.
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8. What do you understand by financial restructuring ? How
does it impact the value of firm in the long run ? Give

some exchanges of financial restructuring of any firm.
fordta Q=T § o9 o wHEd € 2 UE <Hehte § BH
ged o fohd R gefad o1 @ ? fdt wd =1 foxf
T & /5 ARE-USH 3T |

(2)L-5232 8



